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NERE Ap=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 B 4 Be R OBE R B R AA2b
1 126 1l 22 REIR ANERIR 38.68 38.61 1:17.29 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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1 125 aA FH ANERIR 34.35 32.73 1:07.08 0.00
2 124 | B ki T E 41.62 39.87 1:21.49 154.67
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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No No K4 B 4 Be R OBE R B R AA2b
1 123 me = 7 M AR E 51.14 49.62 1:40.76 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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